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1. Let f(x) = i and g(x) =vVx — 2.
a) Find(geof) (1)

(95)(3) - g((@\ q(l> ‘1 + =Jo —@

b) Find f o g and |tsdoma|n

(£9)6) = £(36) = WCU—’TB l ‘ l&’mam' &, w)
¢) Find g o f and its domain.
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2. Find the inverse of f(x) = 2 + v/x — 3. Be sure to state the domain of f ~1(x). (Hint: the domain
of f~1is the range of f)

v = 24 {x3 Range of € is [2,00)
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3. Given the graph of f(x), draw the graph of f~1(x).

Q: What word starts with "e" and has only one letter in it?

4. Let f(x) = iand gx) =x? 3.
a) Find (f g)(O)

f(®) = £ (o™ )= f(-3 =23\

b) Find (f ° g)(2). ‘
[ () = £G-3) = ()= —=7% li\a‘c-fmed

c) Find (g°g)(3).

9 (6(3) = 9 (3-3)=9(6)= 61'3:@
d) Find f o g and its domain. 7_ —
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e) Find g o f and its domain.

q (460) =9 (1) = () -3
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f) Find f o f and simplify it. Based on what you got for f o f, what can you say about the
inverse of f?

f(#6) =

|
>
~~

'.\7‘
~

The inverse of £
( \w (-
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(This i be cause we got

X _(’(_[(X)) X so f is
- X’(’(—\) |{-$ own Ian/$€>
e
- |

6. Show that f(x) = L and g(x) = l + 1 are inverses of each other.

I
L= PO = T g 7

9(4’&)):9(:‘-*.)‘—@;3“ = x-lat=x 7

8. Find the inverse of f(x) = Zxx—_:?, Be sure to state the domain of f~1(x).
—

\/ o 2X+3 > éwt'l’“l Xﬁnﬂ‘)r

Y-l

X = 2y43
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10. Given the graph of f(x), draw the graph of f ~1(x).
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